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NEFHEET EXXRS
NETFTHEXEFE NEFHEEOERS

B E B B AFEFPHRE |SFEEFEEE| = B

Iz ZEEEURA 1,845,000 1,719,000 126,000

— XA ZEE R UNA 1,845,000 1,719,000 126,000
5 | A Mg AERELI-FEZITEIA 1,845,000 1,719,000 126,000
ES BEFHUILAGQ) 1,845,000 1,719,000 126,000
] EEI St 1,845,000 1,719,000 | 126,000
;EZJ HEmEREREXH 53,000 53,000 0
£ | X LB 30,000 30,000 0
% ¥BERATEXH 1,000 1,000 0
i | W HaEXH 1,748,000 1,622,000 126,000
x BHEXH 13,000 13,000 0
. FEFYHEQ) 1,845,000 1,719,000 [ 126,000
EETHESWNTELHOB)=(1)-(2) 0 0 0

=, 1 0 0 0
4 |21 B ETET VIO 0 0 0
oLt B 0 0 0
@ %j R E S 0 _ 0 0 0
i TR B iHEERINT E58(6)=(4)-(5) 0 0 0

E 1y 0 0 0
wE 7| A [ZOHOEBIRAGD) 0 0 0
XIZOD| % 0 0 0
~ggﬂ H [ ZFoithnEEZ HERE) 0 0 0
g ZDDEBE U T E58(9)=(7)-(8) 0 0 0
Ffm & X 1 (10) 0 0 0

HHE ST ELZAS T 1)=(3)+6)+(9)-(10) 0 0 0
AARZIEEES2) 0 0 0

BRI ERES(11)+(12) 0 0 0

XA &G 1,845,000 1,719,000 126,000

X HEE 1,845,000 1,719.000 126,000

=51E&S 0 0 0
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B & ® B IFETHE |3FEFEEE| = B
ZEEIWRA 36,865,000 | 37,482,000 -617,000
) T XETHZEEEUIRA 36,865,000 | 37,482,000 | -617,000
A Hhig AEXIELI-FEZIERUA 36,865,000 | 37,482,000 -617,000
BEFHIRAG) 36,865,000 | 37,482,000 | -617,000
AEEXH 31,336,000 | 31,355,000 -19,000
AR HE X 17,756,000 | 15,621,000 | 2,135,000
— BEES5XH 5,188,000 4,372,000 816,000
% FEUHEHRESXH 4,326,000 6,914,000 | -2,588,000
EERMEXH 4,066,000 4448000 | -382,000
E3 EEXEBETH 3,836,000 4803000 | -967,000
HEREREREXE 273,000 261,000 12,000
& REEH X H 183,000 183,000 0
SEHE XN 923,000 924,000 -1,000
B HigE T H 320,000 302,000 18,000
- | X HpREEFEXH 50,000 50,000 0
- B E 270,000 252,000 18,000
x REZBEXH 42,000 42,000 0
HEERE X 42,000 42,000 0
z | & HEM R & X H 86,000 74,000 12,000
MREAREXZ N 55,000 55,000 0
4z BIE B E T H 493,000 493,000 0
FRRITEZTH 1,190,000 2.161.000 | -971,000
X FHEHEH 19.000 19,000 0
= Berf T 45,000 45,000 0
HAEX M 195,000 225,000 -30,000
BEEXH 12,000 19,000 -7,000
EHEIH 210,000 230,000 -20,000
fafEE BT H 210,000 230,000 -20,000
EETHZTHEQ) 35,382,000 | 36,388,000 | 1,006,000
EXGFPERINTEF3)=(1)-(2) 1,483,000 1,094,000 389,000
= | AR
LA REERENAT® 0 0 0
b2 s %
» 534
@Tm“ RS HEG) 0 0 0
" MR B EE R IV E586(6)=(4)-(5) 0 0 0
&~ H—EXR S BRAZIA 1,000 1,000 0
ZWE| ux H—EXRDE@EASIRA 1000 1,000 0
il A FOHRT R LYt AR D RIHEASILA 1,000 1,000 0
oD T DD FEEULAGHT) 1,000 1,000 0
e EEXDRERASIH 1,483,000 1,094,000 389,000
+ (:;’g 53 FERDRBBASIH 1,483,000 1,094,000 389,000
Zdp| HEEUBERSMBAS T 1483000 | 1,094,000 | 389,000
f;lq) TDDEB X HEHE) 1,483,000 1,094,000 389,000
& DD FBE R URTEEE(9)=(7)-(8) -1,482,000 | -1,093,000 | -389,000
FliaEXH(10) 1,000 1,000 0
S E RN T EE S EH11)=(3)+(6)+(9)—(10) 0 0 0
AR ZINERZS(12) 0 0 0
SHARZILNESZS11)+(12) 0 0 0
IRA&E 36866000 37,483,000 -617,000
XH&E 36,866,000 37,483,000  -617,000
=51%5 0 0 0
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B E ® B AFEPHEE |3FETFESHE| = B
NMEERIREEIRA 13,011,000 | 18,124,000 | -5,113,000
BENEZENEHIA 7,049,000 8,527,000 | -1,478,000
I NEFHZENERRA 7,049,000 8,527,000 | —1,478,000
NEFH-BELEEIEREETENA 5,962,000 9,597,000 | -3,635,000
= FEINA 5,962,000 9,597,000 | 3,635,000
% s ISERER AN 1,000 1,000 0
A ZIAER4YEIRA 1,000 1,000 0
S A BEISEIA 1,000 1,000 0
FEFHIRAGO) 13,012,000 18,125,000 | 5,113,000
AGEXZH 2,861,000 2,913,000 -52,000
& EEEHEHREIE 2,461,000 2,512,000 -51,000
EERMEXH 400,000 401,000 -1,000
BXEBESTH 12,013,000 | 17,124,000 [ -5,111,000
) HESREHESEZH 251,000 295,000 -44,000
RIEH Z H 218,000 218,000 0
(= SEHEXH 1,046,000 1,050,000 -4,000
- BT H 470,000 470,000 0
HREEEIH 200,000 200,000 0
& X BHERHE 270,000 270,000 0
mREXBEXH 42,000 42,000 0
R A REX N 42,000 42.000 0
N HHEB R & X 50,000 50,000 0
ErEE 200,000 200,000 0
RIS ARE T H 82,000 82.000 0
1 BIEERE X H 150,000 150,000 0
(BEAETH 8,816,000 13,879,000 | -5,063,000
% FHH I H 410,000 410,000 0
— RPF 278,000 278,000 0
EHEIH 40,000 40,000 0
BHEEETH 40,000 40,000 0
EEETHTHEIHQ) 14,914,000 | 20,077,000 | -5,163,000
BEFHESINTEZEQ)=(1)-(2) -1,902,000 | -1,952,000 50,000
=, | IR _ _ 0 0
& |20 A [HERBHZIRAGTG 0 0 0
oL B 0 0
@% H O BEBBEEIHAG) 0 0 0
i R B E & R IV E28(6)=(4)-(5) 0 0 0
o~ i 0 0
Sz | A [FOMOEBIRATD) 0 0 0
%t ) Y—EXRBRAEZH 1,000 1,000 0
wﬁt * Y—EXRHERAEIH 1,000 1,000 0
P | aEN-EEY-t AR ERASZH 1,000 1,000 0
—’ Z DD ;EEN X HEHB) 1,000 1,000 0
2 DD FEHNE EINT ZEEE(9)=(7)—(8) -1,000 -1,000 0
FiEE X H(10) 100,000 100,000 0 |
SHE TN ZE ST 1)=(3)+(6)+(9)-(10) -2,003,000 | -2,053,000 50,000
AR ERES12) 2,003,000 2,053,000 -50,000 |
HPXRZINEEERS11)+12) 0 0 0
IRA&ZE 15015000 20,178,000 -5,163,000
XH&A&F 15015000 20,178,000 -5,163,000
=51&5 0 0 0
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